drei Briiche, Reihenfolge der Operationen mit

Klammern

Name Datum: Ergebnis:
27 9 (1-2)+3=

- — +9:
-3

12 3 3

— —2)+6= -+ -)+3=
(-2 (;+37)%3

1 1 1 2 1
1G9 (5133

10 2 1 1
3+—)+5= -+ = - =
( 3) (5 6)><6

1 2 3 1 3
—_(— + =) = - — =
573 G762
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Name: Datum: Ergebnis:
2779 1 1
— —=)+9=— 1—2)+=3 =(—
E-Dv9-1 (1-2)+3= ()
12 1 3 9
6= — 24 2ya3= 2
(572 15 G373 %
11 1 1 1 2 1 17
1337773 573737 %
10 19 4 2 1 1 17
3+ )+5=—=1— —+ )X == —
3+3) 5 15 (37676~ T80
27 301 3 7
—_(—= + =)= — —_— = —_ = —
G737 33 (276737 16
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